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S 11,987
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= 35,719
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04 JIZAHZ2XNHSE= 71,438 69,898 1,540
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301 LPBAI 6,618 0 6,618
2 3,309
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01 AEIBHE462 6.618 0 6.618
ORI 22l AL (4501 72) 6,618,0002! 6,618
2 3,309
2 3,309
NI IR 201,507 208,666 AT7,159
2 22,183
= 20,657
2 158,667
REZAF ZOIUIOIE KR AY 43,777 41,118 2,659
2 17,008
= 8,504
2 18,265
101 @121t 43,777 41,118 2,659
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el DSHYIX 2 (ct9: &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

XEoltss 4,067,850 4,642,650 A 574,800

WEZHIX& 2,710,372 2,473,917 236,455

YSIAIE 2 & ™ 420 0 420

201 LBt 3| 420 0 420

01 AtS 22/l 420 0 420
o=2d+d 420
—XoisAoI MEEH s ~g 70,0002 * 3% * 23] 420

Zis SU2IXH 560,000 660,000 A 100,000

308 XX HHSOIA 560,000 660,000 100,000

06 WEII2UUEEES 560,000 660,000 A 100,000
Oz, 0S8 gnsE 2 (1801 1w) 100,000, 000& 100,000
Ox=Ss&tl Y$iE 2 (6IH1) 120,000,000& 120,000
OHE=x=Es L UHMEEH 29 340,000, 000& 340,000

StugA XA 1,298,832 1,011,197 287,635

201 LBt 3| 1,680 1,680 0

01 AtS 22l 1,680 1,680 0
o=2d+d 1,680
—StwgaXF o3 70,0009 » 12F 23] 1,680

308 NXISHHSOIH 1,297,152 1,009,517 287,635

06 WEIIZ0UEEExS 1,297,152 1,009,517 287,635
OstW =AHl X&(7,241Y) 1,297,152,000& 1,297,152

Fstiteg N 350,000 300,000 50,000

306 EH3 350,000 300,000 50,000
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Oo¥gx AMsSdHS Nt =23 350,000,000 350,000
WA HLAS 501,120 502,720 21,600
201 B2 1,120 1,120 0
01 AtR2teldl 1,120 1,120 0
SR 1,120
—wWFZHEX YA 70,0003 * 4% = 43 1,120
308 AXIEHHMSOIA 500,000 500,000 0
06 WEJ|I20et2x=s 500,000 500,000 0
O22stl WISHAMH ALY 500,000,000 500,000
A=0usSsEL2E 1,296,910 2,132,705 A835,795
WESA=EE 45 80,390 30,390 50,000
201 2Bt 38,390 25,390 13,000
01 AtS2t2lbl 10,390 10,390 0
Ogt==H| 3,750
—uUES7 EE SdItE A 50,000& * 200H 1,000
—go=HgEa Hot A= MA 2,000,000 * 12 2,000
—3R& YA=0stse Wl 7Y 15,0008 * 258 * 23| 750
OBgag 3,640
—3R& F0ssE 2EAME 35,0003 * 20Al2t * 23] 1,400
—uFEF HIXNFY 2= 70,0002 * 8H * 43 2,240
ogxs 3,000
—go=HEa It BA Y= 3,000,000 * 12 3,000
02 3323l 18,000 5,000 13,000
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03 A2 HI 10,000 10,000 0
O UALIX CHal A2 10,000,000& 10,000
202 O4Hl 5,400 3,600 1,800
01 SUWAHYI 5,400 3,600 1,800
OQuss+ g2x4 150,000& = 3Y = 12& 5,400
203 ¥R =& 800 400 400
03 AZFXHRFAH| 800 400 400
OL=20u=s &7 FRFA 243 200,000& * 43| 800
301 EtEN = 800 1,000 A 200
10 HALAHIZ &3 800 1,000 A 200
OAFZ LA 23tEY 40,0002 * 20F 13 800
307 QI12+0I & 35,000 0 35,000
05 2IRIRAES 35,000 0 35,000
O&FEAYE oHANHE ALK& 3,500,000& * 10 * 13 35,000
Dwel=0l X 387,200 387,200 0
308 NXISHHMSOIH 387,200 387,200 0
06 W=IIZ0NUEEES 387,200 387,200 0
Ollwel=el W AH(HE=0, 428, E&3 S) 37,300,000& » 8% 298,400
O1nwe=el wd 22| (FHl, F =3 HIS7H, HSHIS) 11,100,000& = 8% 88,800
o024 829,320 868,915 A 39,595
201 LBt 3| 2,000 0 2,000
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6,000
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02 YIS ExX 12,000 0 12,000
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= 5,500
= 1,650
= 134,850
402 RIHR 20| 76,000 0 76,000
=2 38,000
= 1,400
= 26,600
01 BIAX=EE 76,000 0 76,000
ONYE NAZSH A 76,000,000 * 144 76,000
= 38,000
= 1,400
2 26,600
ATRINBUE 29 13,700 0 13,700
201 LBty 7,400 0 7,400
01 At 7,400 0 7,400
CEITES =11 6,000
~NREE Y S 500,0002! 500
~HAEY AREDY S 500, 0002 500
—UXel 2 ERS M 1,000,008 * 43l 4,000
—RolRmeldel U S A B4 N 50,0008 * 200H 1,000
osg+g 1,400
—oIRs ALY 70,0002 * 10% * 23] 1,400
202 Oft| 5,400 0 5,400
01 2Uoibl 5,400 0 5,400
OYUR X HME PR 50,0008 * 38§ * 122 5,400
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